
MTS KEYBOARD

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



2MTSIM MTS KEYBOARD INSTRUCTION MANUAL

1x

1x

PARTS

1x

[dimensions in mm / different scales]
No extra or spare parts listed!

1x

580

40

40

350

40

80

100

40

80



3MTSIM MTS KEYBOARD INSTRUCTION MANUAL

3x

 80
 

 4
0 

8x

40

40

1x

2x

1x 1x



4MTSIM MTS KEYBOARD INSTRUCTION MANUAL

5x
M8

2x

 30 

 Ø
8 

3x

black

2x

1x

 
8 

 25 

3x

3x

BAG K1

BAG K2

 
8 

 18 

 8,4 
 16 

8x
M8

8x

8x

black

black

M6

 
6 

 12 

 
8 

 16 



5MTSIM MTS KEYBOARD INSTRUCTION MANUAL

ASSEMBLY

M8x30

2x
slot nut 

M8

disassemble
joint

thread

universal
connector

universal
connector

1.

2.

3.

4.

2.
3.

M8x30



6MTSIM MTS KEYBOARD INSTRUCTION MANUAL

place 
rotation
blockers

M8x25



7MTSIM MTS KEYBOARD INSTRUCTION MANUAL

place 
2 rotation
blockers

slot
nut
M8

M8x16

1.

2.



8MTSIM MTS KEYBOARD INSTRUCTION MANUAL

3x
slot nut

M6

cap
cap



9MTSIM MTS KEYBOARD INSTRUCTION MANUAL

4x
slot nut

M8

cap

2x
M8x18
black

2x
M8x18
black

2x
washer Ø16

black

2x
washer Ø16

black

1.

cap

2x
slot nut

M8

Notice:
Position of the brackets 
define the height of the 

keyboard.



10MTSIM MTS KEYBOARD INSTRUCTION MANUAL

M8x16

place 
2 rotation
blockers



11MTSIM MTS KEYBOARD INSTRUCTION MANUAL

place 
2 rotation
blockers

place 
sleeve
(loose
standing)



12MTSIM MTS KEYBOARD INSTRUCTION MANUAL

lever

without thread

with thread

M8x16



13MTSIM MTS KEYBOARD INSTRUCTION MANUAL

3x
M6x12
black



14MTSIM MTS KEYBOARD INSTRUCTION MANUAL

4x
slot nut

M8

Detail

4x
slot nut

M8



15MTSIM MTS KEYBOARD INSTRUCTION MANUAL

Loose the red marked 
bolts  to adjust the 

distance of the desk.

4x
M8x18
black

4x
washer Ø16

black

Tighten the red 
marked screws 
for more friction
(stiffer running).



07-09-2023

swing in / out

tighten lever
to fix position


